6884 Flat side
6884 @— againstgear  gggy

6883 ﬁ’

? 3x6 BCS 4x3 GS

- 6883 —,_ Flatside
3056R-54T “—_ Fat
6842R-50T 6884 @7~ against gear
6843R-52T

Optional Center Differential

6890

6860A
3932 -
ﬁ FC 6860R
2534
. Q) 3x6 CCS
v i 6860A B

3384 i -
Includes Leads Sl

.
6860A  goe0R ) ,
& 2745 o
P " 5119
g . Aa~—_ 10x15x4 BB

~

7455
6855 opt.
68556 opt.
6855R opt.

o
/{888 N

N
4368 @2/ e il

6888X opt. Y -
e 5552X 2 6843 52T opt.
6388 T 6842 50T opt.
6888X opt. /@ 2554

3x6 CS

5552X
5.0L

LI IEAS
REV 230921-RO1

I 2 3 Specifications on this page are subject to change without notice. Every attempt has been made to ensure
listing of optional accessories. the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors.

See Parts List for a complete



S EAS

CTF L J . g
Body Assembly o

Completed Assembly (view from top)

<>
<>

6932-RED

6932-GRN
6932L

6965 opt.

Completed Assembly (view from bottom)

\

P 2577 ‘
‘ }mo BCS o266
I
[} -

0534 L 6966 il
¥ 2577
WG CCS | U 3xi0Bes
fe £2534
6967 |\ 3x6 CCS
3x10 BCS p
REV 230921-R01 ﬁﬁ
See Parts List for a complete 2571 Specifications on this page are subject to change without notice. Every attempt has been made to ensure

listing of optional accessories. 3x10BCS the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors.



A

BRUSHLESS,

Assembl

5827X Opt.

5827

Chassis

Specifications on this page are subject to change without notice. Every attempt has been made to ensure

the accura

See Parts List for a complete

REV 230921-R01

listing of optional accessories

not be held responsible for typographical or other errors.

axxas can

r, Tr.

cy of this drawing; howeve



V,QVQ -

ORUSHLESS,

Available fully assembled as part #9051 Available fully assembled as part #9052

Front Driveshaft Assembly /@75452 Rear Driveshaft Assembly

Modular Assembly 5 /\ ¥ acs

3937
4x12 BCS

REV 230921-R01

Specifications on this page are subject to change without notice.

Every attempt has been made to ensure the accuracy of this drawing; however, Traxxas cannot
be held responsible for typographical or other errors. See Parts List for a complete listing of optional accessories.



3932

36 FCS
|
|

©,_ 3932
3x6 FCS

9037
9037 opt. 6742

90376 opt. 67426 opt.
9037R opt. 6742R opt.

|
|
|
|
Bl . |
|
|

8347

NL M4x0.7 Flanged
1748 opt. 5117A

5117 2580
6x12x4 BB
<

3936
3x12 CSS | 4x10 BCS

/ g032x
320 BCS = 9037 gpt.

9032G opt.
o 9032R opt.

Or 9032T opt.

' 2 0033-GRAY opt.

6x9.5%0.5 TW J h
T4

5120A
5120 opt. 2580

12x18x4 BB 3x20 Bcsé >

sk~
12.CSS

3655R

3655A opt.
3655G opt.
3655L opt.
3655P opt.
3655T opt.

|
| 68236 opt.
‘ 8823R opt.
6835 2579 S
. 35808 ;\) .
\ \ ! 3x12CCS ™
2579 ~ ot
3i5BCS | | 5220808~ W MR~
| Jsim NN e
! DT S17A ol
/ P 2580 S e, 8347
i | 3x6x.05 MW 9042 3x20BCS | 32X 2111; i ~ NL M4x0.7 Flanged
. ‘ 6845X . 1552 9042X opt. | /9032 opt. X12x > 1748 opt.
P A e 3x8 CS /4 90326 opt. A i
e - | 2545 © 2746 |4 9032Ropt o
- | | B845X 5XBX25PB I 3x6x05MW  gpgpx 90327 opt )
v 6845A opt. : ooy Q032-GRAY opt. | |
2362 & ' 68456 opt. 2945 9037X |
i o | 6845R 3967 ¥ 5x8x25PB 3981
2 ] oL 9037 0pt. | §,9.5x0.5 TW
3767 € ! i L | | 6845T opt. 3x10 CSS 90376 opt. ey
i ‘/ P | @ P 9037R opt.
: /‘ F L ’ e 20370y ook | :
- © e 7 sadsi R Gl = 6845X
| e s
| Sl 645X - ) \&
6742R opt. e
2545 = ) eTaopt. - o
3768 ) 5x8x2.5 PB ! Install with rim facing upward.
7 & e
¢ 2553 1 e : — =
e 4 R —— CEESY
B i |
T — ORUSHLESS
REV 230921-R01 Tl ¥ 2)5(143 ccs Specifications on this page are subject to change without notice. Every

See Parts List for a complete attempt has been made to ensure the accuracy of this drawing; however, F t A hl
Traxxas cannot be held responsible for typographical or other errors. ron ssem

listing of optional accessories.



Rear Assembly

8361

2577
3x10 BCS

9050X

9050 opt. 2579

90506 opt. 3x15 BCS
8347 9050R opt.
NL M4x0.7 Flanged 3081 9050T oﬂ, 2579
1748 opt. - /9050-0 % ogtﬁ.m -

A 31255 = & S e
Q
2742

6x12x4 BB

5120A
5120 opt.

3x15 BCS

Shock Assembly——————

Use #1666 silicone

8361

o)

E

3768

E

Limiter
(rear only)

¢@®

2656
2656T opt.

shock oil

12x18x4 BB

See Tire/Wheel chart for product options

6823
6823G opt.
6823R opt.

&

9042 &
9042X opt.

9050X  9050R opt. .
A 9050 opt. 9050T oﬂ. 2 N\ \®
. 90506 opt. 9050-GRAY opt. > e
3081 g
6x9.5%0.5 TW e /
/ B Ry M4x0.7 Flanged
/ x0.7 Flange
5117A P / 1748 opt.
5117 &
6x12x4 BB e

3655A opt.
36556 opt.
3655L opt.
3655P opt.
3655T opt.

9042X opt.

3x10 CCS

3
4x12 BCS

See Parts List for a complete
listing of optional accessories.

REV 230921-R01

Specifications on this page are subject to change without notice. Every attempt has been made to ensure
the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors.



3 ///‘j /‘I‘
// //
//gﬁ
T ! : — 1 N = & { ///KJ/
N Traxxas SCT Tires BFGoodrich® Mud Terrain™ T/A° Kumho Road Venture MT tires
with Foam Inserts Tires with Foam Inserts with Foam Inserts
LIS
= v = S1 Ultra-Soft S1 Ultra-Soft S1 Ultra-Soft
5871 Racing Compound 6871 Racing Compound 6870 Racing Compound
5871R 6871R 6870R
Wheels* Assembled Wheels and Tires | Assembled Wheels and Tires | Assembled Wheels and Tires
Satin Beadlock/ Satin Wheel - Slash Rear or Slash 4X4 Front/Rear 5872 5873t = = = - =
Satin Beadlock/ Satin Wheel - Slash Front 5874 5875 - - - - -
Red Beadlock/ Satin Wheel - Slash Rear or Slash 4X4 Front/Rear 5872A 5873A 5873R = = = 2
Red Beadlock/ Satin Wheel - Slash Front 5874A = - 5 = = s
Black Beadlock/ Satin Wheel - Slash Rear or Slash 4X4 Front/Rear 5872X 5873X - 5878 - 5880X -
Black Beadlock/ Satin Wheel - Slash Front 5874X 5875X - = = 5881X -
Red Beadlock/ Chrome Wheel - Slash Rear or Slash 4X4 Front/Rear 5868 - - 5867 - - -
Red Beadlock/ Chrome Wheel - Slash Front 5870 = = 5869 = = =
Blue Beadlock/ Chrome Wheel - Slash Rear or Slash 4X4 Front/Rear 5868A - - 5867A - - -
Blue Beadlock/ Chrome Wheel - Slash Front 5870A - - 5869A = - -
Green Beadlock/ Chrome Wheel - Slash Front 5866 - - 5865 - - -
Green Beadlock/ Chrome Wheel - Slash Rear or Slash 4X4 Front/Rear 6875 - - 6876 - - -
Orange Beadlock/ Black Wheel - Slash Front 5870X 5864 - - - - -
Orange Beadlock/ Black Wheel -Slash Rear or Slash 4X4 Front/Rear 5868X 5863t 5863Rt - & = =
Black Beadlock/ Satin Wheel - Slash Rear or Slash 4X4 Front/Rear 6872 - - 6873t 6873X 6874 6874R
Black Beadlock/ Satin Wheel - Slash Front 5876 - - 5877 - 5882 5882R
Red Beadlock/ Chrome Wheel - Slash Rear or Slash 4X4 Front/Rear 6872A - - 6873A 6873R - -
Red Beadlock/ Ghrome Wheel - Slash Front 5876A - - 5877A 5877R - o
Green Beadlock/ Chrome Wheel - Slash Rear or Slash 4X4 Front/Rear Front 6872X - - - - - -
Satin Beadlock/ Black Wheel - Slash Front 5886 - - 5885 - - =
Satin Beadlock/ Black Wheel - Slash Rear or Slash 4X4 Front/Rear 5884 - - 5883 - - -
Blue Beadlock/ Black Wheel - Slash Front 5B886A - - 5885A = = ®
) Blue Beadlock/ Black Wheel - Slash Rear or Slash 4X4 Front/Rear 5884A - - 5883A - - -
Split Spoke Wheels
Gray Beadlock/ Gray Wheel - Slash Rear or Slash 4X4 Front/Rear - - 6964 - o = -
*Wheels and/or tires sold in pairs
+TSM rated
REV 230921-R01 BFGoodrich and all associated names are trademarks used with permission. Every attempt has been made to ensure the accuracy of this drawing; however, Traxxas cannot

Specifications on this page are subject to change without notice. Distributed under license by Traxxas LP. Copyright © 2023 MNA, Inc. All rights reserved. be held responsible for typographical or other errors. See Parts List for a complete listing of optional accessories.



